NOVA RADIO. — 503 A1,

TABEZLLA DEI GOMPORENTI
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CONDENSATORI

¢l = €9 = C16 = (18 5000 pF 1500 V

c2 = c8 = €11 = C19 150 pF

Cl4 = C15 8 MF 500 ¥

C4 = C5 = Cb = C13 ;p.uuc pF 1500 ¥

GI = Cl2 = C17 0.000 P§ 1500 V

10

¢3 B 200 v

€20 10 MF 10V

RESISTENZE

Rl 5000 ohm 1 W

RZz = R4 15000 ohm 1 W

Rg = R6 = R15 000 ohm L/4 W

Eg=m1-al3-m¢ 0,5 ¥ 172 W
C 50 ohmn 172 W

R1Z 0,25 M 1/2 W

RO 200 obm 1 W

Se invecs della 6V6 81 adopera la ELj
la RQ deve essere 41 100 ohm, In serie
alla griglia collegare una R di 2000
sino a2 20.000 ohm,




